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Corrigé de I'exercice 1

Développer et réduire chacune des expressions littérales suivantes :

A=TxxT7
A=TxzxT7 D=5x—6+(6x—10) x7
A=7TxT7xux D=5x—-64+6xx7—10x7
A=497 D=5zx—6+6xxx7-170
D=5x—-64+6x7xx—"170
B=5x9z D=5x—-6+42x—-70
B=5x%Xx9xzx D=5x+42x—-6—-"70
B =452 D=(5+442) z — 76
D =472 76
C=(10x—8)x7—4zx
C=10xx7T—-8x7—4x E=2x(-92+7)+5
C=10xzx7-56—-4z E=2x(-92)+2x7+5
C=10x7xx—4x—56 E=2x(-9) xz+14+5
C=70x—4x—56 E=—182z+19
C=(710-4) x—56
C =66x—56

Corrigé de I'exercice 2

Développer et réduire chacune des expressions littérales suivantes :

A=7x%x9x
A=Tx9xzx D=9z+4x (6x+5)
A =63z D=9z+4+4x6x+4x5
D=9z +4x6xx+20
B=5x5z D=9x+24x+ 20
B=5x5xuz D =(9+24) 2 + 20
B =25z D =33x+20
C=(-Tez—3)x3—-2z+8 E=(@8z—5)x8—6
C=—-Trxx3-3x3—-2x+8 EF=8xx8—-5x8—-6
C=—-7Txxx3-9-2z+8 E=8xxx8—-40—-6
C=-7Tx3xx—2x—-9+8 F=8x8xxz—46
C=-21z—-22x—-—9+38 E =64z — 46
C=(-21-2)z—1
C=-23z—-1

Corrigé de I'exercice 3

Développer et réduire chacune des expressions littérales suivantes :

A=5xx3 B=12x

A=5xxx3

A=5x3xzx C=5x(-9z—4)+1

A=152 C=5x(-92)+5x(-4)+1
C=5x(-9)xx—20+1

B=4xx3 C=-452-19

B=4xzxzx3

B=4x3xzx D=6x(—2x—10)+3x+ 10
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D=6x(—2z)+6x (~10) + 3z + 10 E=-Tex3—-Tx3-3x
D=6x(=2)xz—60+3z+10 E=-Txax3—21-3x
D=-12z+3xz—-60+10 E=-7Tx3xz—-3x—21
D= (-12+3) 2 50 E=-21z—3z—21
D=—9z—50 E=(-21-3)z-21

E=-24x-21
E=(-Tzx—-7)x3-3z

Corrigé de I'exercice 4

Développer et réduire chacune des expressions littérales suivantes :

A=5x9x
A=5x9xx D=-24(10x—4)x9
A=45zx D=-2+10xx9—-4x9
D=-24+10xzx9—-236
B=2x5zx D=-2+10x9%xxz—36
B=2x5xux D=-2+90x—36
B=10x D=90xz—2-—36
D =90z — 38
C=7T2—-94+(-Tx+7)x9
C=Te—-—9—-Txx9+7x9 E=7Tz+(—92—-6) x2
C=Tr—9—7Txzx9+63 E=Tx—-—92x2—-6x2
C=72-9-Tx9%xx+63 E=7T2—-9xxx2-12
C=Tx—9—-63x+ 63 E=Tx—9%x2xz—12
C=72—-63x—9+63 E=7x—18x — 12
C=(7-63) x+54 E=(7-18) z—12
C =—56z+ 54 E=—-11z—12

Corrigé de I'exercice 5

Développer et réduire chacune des expressions littérales suivantes :

A=4x6zx
A=4x6xzx D=7x(-8zx+8)+4
A=24zx D=7x(-8xz)+7x8+4
D=7x(—8)xx+56+4
B=8xzx5 D = —56x + 60
B=8xzx5
B=8x5xx E=Q2zx+8) x10—4x -7
B=40x E=2xx104+8x10—-4x—7
E=2x2zx10+80—-4x -7
C=5x(—z+T7)+=z E=2x10xx—42x+80—7
C=5x(—z)+5xT7+x E=20x—4x+80—-7
C=5x(-1)xz+35+2 E=(20-4) z+73
C=-5x+x+35 E =16z + 73
C=(-5+1)x+35
C=—-4x+35
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